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QUESTION 1

The access path chosen for a query shows a table space scan, when it appears that there is an index available that
would provide a more efficient access path. What situation could have caused a table space scan to be chosen instead
of the index? 

A. Index is created with PCTFREE of zero. 

B. The number of columns in the index is less than four. 

C. RUNSTATS were run when there were no rows in the table. 

D. RUNSTATS were run when there was a million rows in the table. 

Correct Answer: C 

 

QUESTION 2

For which table type could you specify ALTER TABLE tb1 DATA CAPTURE CHANGES? 

A. Catalog tables 

B. Directory tables 

C. Auxiliary tables 

D. Declared global temporary tables 

Correct Answer: A 

 

QUESTION 3

You want to ALTER a table space specifying MAXPARTITIONS 256. For which table space type does the ALTER fail? 

A. Simple table space with one table. 

B. Segmented table space with one table. 

C. Classic partitioned table space with one table. 

D. Partitioned-by-growth table space with one table. 

Correct Answer: C 

 

QUESTION 4

Which minimum system privilege allows you to create a trusted context? 

A. DBADM 
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B. SECADM 

C. SYSCTRL 

D. ACCESSCTRL 

Correct Answer: B 

 

QUESTION 5

Why does the following DDL command fail? CREATE INDEX X1 ON T1 (COL1, COL2, COL3, BUSINESS_TIME
WITHOUT_OVERLAPS); 

A. The index must be partitioned. 

B. The index must use page size > 4K. 

C. The index must be defined as UNIQUE. 

D. The index must be defined as CLUSTER. 

Correct Answer: C 
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